ENGR 350 - Mechanics of Materials, Fall 2013
Homework #3

Due: Wed., Sept. 17

Problem P2.18, p. 45
Problem P2.20, p. 45
Problem P3.3, p. 63

Problem P3.17, p. 66

AW

(all problems are from the textbook).




3-0235— 50 SHEETS — 5 SQUARES
8-0236 — 100 SHEETS — 5 SQUARES
8-0237 — 200 SHEETS — 5 SQUARES
3-0137 — 200 SHEETS — FILLER
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T, = 10°C
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Alvsaingon, Pé'Pe LL‘ A= 60O m

Li,s = €0,005m

Ka = 22.5x107°/°%
de = 12.5x 1078/
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Lea = Lic +0.015m
Lin + Lipe ATs = Ligd Lys o dTeds +0:015m
Lig + AT(L,‘,)A» N~ Lw}o«g) = Lis + 0.0V5m
AT (Lipy+bp = Lijc-%s) = Lys=Lia+ 0:015m

AT = Li,s ~Lipn #0016
LL‘JAad\A ~ L(‘/)Sl O\S

AT = 60.005m = 6Opm + 0.015m
§0ms 22.5x 10C/°0 — 601605 m» 12,5% |0t/ o

AT = 33,3°

Te = Ti 447 :)L’rz,z%)
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